Answer Key Math 71 Review

Question 1 Answers
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Question 2 Answers
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Question 3 Answers
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Question 4 Answers

a) x4—4x3+12x2—33x+99+x+3 b) 4x° +8x% +x+2

Question 5 Answers

a) {x|xisa real number} b) {0} c) {0}

d) {x|xisrealnumbersandx =2} e) {2} f {3}

Question 6 Answers

a) (—00,2)

b) (-1.2)u(5x)




Question 7 Answers

a) (7.0) b) {0} o (32)(3-2)(-32)(-3-2)

d) {x|xisa real number} e) (0,-23) f) (3,-2,1)

Question 8 Answers
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Question 12 — 17 Answers

a) —5280x*y’ b) —14784x°y’ ¢ 4851 d) 6435
1 51 19
- — h 3k+2
o ) (n+3)(n+2) 9 I ) 2(3k+2)
) ; o 21 ) 41
N 2 = sl
3 Vg 23 43
39
m) 58 n 21 o 36 p) Y

Question 18 Answers
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Question 19 Answers
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a) (x—3)> +(y—2)* = 4 Circle centered at (3,2) b) — —=— =1 Hyperbola
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Question 20 Answers Question 21 Answer
), intercept (0,1) asymptote y =0 The solution is the darkest shaded region
», intercept (1,0) asymptote x =0 .
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Question 22 Answers
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